
ASSESSING	
  DIVIDEND	
  POLICY:	
  
OR	
  HOW	
  MUCH	
  CASH	
  IS	
  TOO	
  
MUCH?	
  

It	
  is	
  my	
  cash	
  and	
  I	
  want	
  it	
  now…	
  

Aswath Damodaran	
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The	
  Big	
  Picture…	
  

Aswath Damodaran	
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Assessing	
  Dividend	
  Policy	
  

Aswath Damodaran	



179	



¨  Approach	
  1:	
  The	
  Cash/Trust	
  Nexus	
  
¤  Assess	
  how	
  much	
  cash	
  a	
  firm	
  has	
  available	
  to	
  pay	
  in	
  
dividends,	
  relaRve	
  what	
  it	
  returns	
  to	
  stockholders.	
  
Evaluate	
  whether	
  you	
  can	
  trust	
  the	
  managers	
  of	
  the	
  
company	
  as	
  custodians	
  of	
  your	
  cash.	
  

¨  Approach	
  2:	
  Peer	
  Group	
  Analysis	
  
¤  Pick	
  a	
  dividend	
  policy	
  for	
  your	
  company	
  that	
  makes	
  it	
  
comparable	
  to	
  other	
  firms	
  in	
  its	
  peer	
  group.	
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I.	
  The	
  Cash/Trust	
  Assessment	
  

Aswath Damodaran	



180	



Step	
  1:	
  How	
  	
  much	
  did	
  the	
  the	
  company	
  actually	
  pay	
  
out	
  during	
  the	
  period	
  in	
  quesRon?	
  
Step	
  2:	
  How	
  much	
  could	
  the	
  company	
  have	
  paid	
  out	
  
during	
  the	
  period	
  under	
  quesRon?	
  
Step	
  3:	
  How	
  much	
  do	
  I	
  trust	
  the	
  management	
  of	
  this	
  
company	
  with	
  excess	
  cash?	
  

¤ How	
  well	
  did	
  they	
  make	
  investments	
  during	
  the	
  period	
  in	
  
quesRon?	
  

¤ How	
  well	
  has	
  my	
  stock	
  performed	
  during	
  the	
  period	
  in	
  
quesRon?	
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How	
  much	
  has	
  the	
  company	
  returned	
  to	
  
stockholders?	
  

Aswath Damodaran	



181	



¨  As	
  firms	
  increasing	
  use	
  stock	
  buybacks,	
  we	
  have	
  to	
  
measure	
  cash	
  returned	
  to	
  stockholders	
  as	
  not	
  only	
  
dividends	
  but	
  also	
  buybacks.	
  

¨  For	
  instance,	
  for	
  the	
  four	
  companies	
  we	
  are	
  
analyzing	
  the	
  cash	
  returned	
  looked	
  as	
  follows.	
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A	
  Measure	
  of	
  How	
  Much	
  a	
  Company	
  Could	
  have	
  
Afforded	
  to	
  Pay	
  out:	
  FCFE	
  

Aswath Damodaran	
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¨  The	
  Free	
  Cashflow	
  to	
  Equity	
  (FCFE)	
  is	
  a	
  measure	
  of	
  how	
  much	
  
cash	
  is	
  le_	
  in	
  the	
  business	
  a_er	
  non-­‐equity	
  claimholders	
  
(debt	
  and	
  preferred	
  stock)	
  have	
  been	
  paid,	
  and	
  a_er	
  any	
  
reinvestment	
  needed	
  to	
  sustain	
  the	
  firm’s	
  assets	
  and	
  future	
  
growth.	
  
Net	
  Income	
  

	
  +	
  DepreciaRon	
  &	
  AmorRzaRon 	
   	
  	
  
	
  =	
  Cash	
  flows	
  from	
  OperaRons	
  to	
  Equity	
  Investors	
  
	
  -­‐	
  Preferred	
  Dividends	
  
	
  -­‐	
  Capital	
  Expenditures 	
  	
  
	
  -­‐	
  Working	
  Capital	
  Needs	
  
	
  -­‐	
  Principal	
  Repayments	
  
	
  +	
  Proceeds	
  from	
  New	
  Debt	
  Issues	
   	
  	
  
	
  =	
  Free	
  Cash	
  flow	
  to	
  Equity	
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Disney’s	
  FCFE	
  

Aswath Damodaran	
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Comparing	
  Payout	
  RaRos	
  to	
  Cash	
  Returned	
  
RaRos..	
  Disney	
  

Aswath Damodaran	
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EsRmaRng	
  FCFE	
  when	
  Leverage	
  is	
  Stable	
  

Aswath Damodaran	
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Net	
  Income	
  
-­‐	
  (1-­‐	
  δ)	
  	
  (Capital	
  Expenditures	
  -­‐	
  DepreciaRon)	
  
-­‐	
  (1-­‐	
  δ)	
  Working	
  Capital	
  Needs	
  
=	
  Free	
  Cash	
  flow	
  to	
  Equity	
  
δ	
  =	
  Debt/Capital	
  RaRo	
  
Proceeds	
  from	
  new	
  debt	
  issues	
  	
  =	
  Principal	
  
Repayments	
  +	
  δ	
  (Capital	
  Expenditures	
  -­‐	
  DepreciaRon	
  +	
  
Working	
  Capital	
  Needs)	
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An	
  Example:	
  FCFE	
  CalculaRon	
  

Aswath Damodaran	
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¨  Consider	
  the	
  following	
  inputs	
  for	
  Microso_	
  in	
  1996.	
  In	
  
1996,	
  Microso_’s	
  FCFE	
  was:	
  
¤  Net	
  Income	
  =	
  $2,176	
  Million	
  
¤  Capital	
  Expenditures	
  =	
  $494	
  Million	
  
¤  DepreciaRon	
  =	
  $	
  480	
  Million	
  
¤  Change	
  in	
  Non-­‐Cash	
  Working	
  Capital	
  =	
  $	
  35	
  Million	
  
¤  Debt	
  RaRo(DR)	
  =	
  0%	
  

FCFE	
  =	
  	
  Net	
  Income	
  -­‐	
  (Cap	
  ex	
  -­‐	
  Depr)	
  (1-­‐DR)	
  -­‐	
  Chg	
  WC	
  (1-­‐DR)	
  
	
  	
  	
  	
  	
  = 	
  $	
  2,176	
  -­‐	
  (494	
  -­‐	
  480)	
  (1-­‐0) 	
   	
  -­‐	
  $	
  35	
  (1-­‐0)	
  
	
  	
  	
  	
  	
  =	
   	
  $	
  2,127	
  Million	
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Microso_:	
  Dividends?	
  

Aswath Damodaran	
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¨  By	
  this	
  esRmaRon,	
  Microso_	
  could	
  have	
  paid	
  $	
  2,127	
  
Million	
  in	
  dividends/stock	
  buybacks	
  in	
  1996.	
  They	
  
paid	
  no	
  dividends	
  and	
  bought	
  back	
  no	
  stock.	
  	
  

¨  Where	
  will	
  the	
  $2,127	
  million	
  show	
  up	
  in	
  
Microso_’s	
  balance	
  sheet?	
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FCFE	
  for	
  a	
  Bank?	
  

Aswath Damodaran	
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¨  To	
  esRmate	
  the	
  FCFE	
  for	
  a	
  bank,	
  we	
  redefine	
  reinvestment	
  as	
  investment	
  
in	
  regulatory	
  capital.	
  Since	
  any	
  dividends	
  paid	
  deplete	
  equity	
  capital	
  and	
  
retained	
  earnings	
  increase	
  that	
  capital,	
  the	
  FCFE	
  is:	
  
FCFEBank=	
  Net	
  Income	
  –	
  Increase	
  in	
  Regulatory	
  Capital	
  (Book	
  Equity)	
  

¨  As	
  a	
  simple	
  example,	
  consider	
  a	
  bank	
  with	
  $	
  10	
  billion	
  in	
  loans	
  
outstanding	
  and	
  book	
  equity	
  (Tier	
  1	
  capital)	
  of	
  $	
  750	
  million.	
  Assume	
  that	
  
the	
  bank	
  wants	
  to	
  maintain	
  its	
  exisRng	
  capital	
  raRo	
  of	
  7.5%,	
  intends	
  to	
  
grow	
  its	
  loan	
  base	
  by	
  10%	
  (to	
  $11	
  billion)	
  and	
  expects	
  to	
  generate	
  $	
  150	
  
million	
  in	
  net	
  income	
  next	
  year.	
  	
  

	
  FCFE	
  =	
  $150	
  million	
  –	
  (11,000-­‐10,000)*	
  (.075)	
  =	
  $75	
  million	
  
¨  If	
  this	
  bank	
  wants	
  to	
  increase	
  its	
  regulatory	
  capital	
  raRo	
  to	
  8%	
  (for	
  

precauRonary	
  purposes)	
  while	
  increasing	
  its	
  loan	
  base	
  to	
  $	
  11	
  billion	
  
FCFE	
  =	
  $	
  150	
  million	
  –	
  ($	
  880	
  -­‐	
  $750)	
  =	
  $20	
  million	
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Deutsche	
  Bank’s	
  FCFE	
  

Aswath Damodaran	
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Dividends	
  versus	
  FCFE:	
  Cash	
  Deficit	
  versus	
  
Buildup	
  

Aswath Damodaran	
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The	
  Consequences	
  of	
  Failing	
  to	
  pay	
  FCFE	
  

Aswath Damodaran	
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Chrysler: FCFE, Dividends and Cash Balance
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6	
  	
  ApplicaRon	
  Test:	
  EsRmaRng	
  your	
  firm’s	
  FCFE	
  

Aswath Damodaran	
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¨  In	
  General, 	
   	
   	
   	
  If	
  cash	
  flow	
  statement	
  used	
  
Net	
  Income 	
   	
   	
   	
  Net	
  Income	
  
+	
  DepreciaRon	
  &	
  AmorRzaRon 	
   	
  +	
  DepreciaRon	
  &	
  AmorRzaRon	
  
-­‐	
  Capital	
  Expenditures 	
   	
   	
  +	
  Capital	
  Expenditures	
  
-­‐	
  Change	
  in	
  Non-­‐Cash	
  Working	
  Capital 	
  +	
  Changes	
  in	
  Non-­‐cash	
  WC	
  
-­‐	
  Preferred	
  Dividend 	
   	
   	
  +	
  Preferred	
  Dividend	
  
-­‐	
  Principal	
  Repaid 	
   	
   	
  +	
  Increase	
  in	
  LT	
  Borrowing	
  
+	
  New	
  Debt	
  Issued 	
   	
   	
  +	
  Decrease	
  in	
  LT	
  Borrowing	
  

	
   	
   	
   	
   	
  +	
  Change	
  in	
  ST	
  Borrowing	
  
=	
  FCFE 	
   	
   	
   	
  =	
  FCFE	
  

¨  Compare	
  to	
  
Dividends	
  (Common) 	
   	
   	
  Common	
  Dividend	
  	
  	
  
+	
  Stock	
  Buybacks	
   	
   	
   	
  Stock	
  Buybacks 	
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A	
  PracRcal	
  Framework	
  for	
  Analyzing	
  Dividend	
  
Policy	
  

Aswath Damodaran	
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How much did the firm pay out? How much could it have afforded to pay out?"
What it could have paid out! What it actually paid out!
Net Income" Dividends"
- (Cap Ex - Depr’n) (1-DR)" + Equity Repurchase"
- Chg Working Capital (1-DR)"
= FCFE"

Firm pays out too little"
FCFE > Dividends" Firm pays out too much"

FCFE < Dividends"

Do you trust managers in the company with!
your cash?!
Look at past project choice:"
Compare" ROE to Cost of Equity"

ROC to WACC"

What investment opportunities does the !
firm have?!
Look at past project choice:"
Compare" ROE to Cost of Equity"

ROC to WACC"

Firm has history of "
good project choice "
and good projects in "
the future"

Firm has history"
of poor project "
choice"

Firm has good "
projects"

Firm has poor "
projects"

Give managers the "
flexibility to keep "
cash and set "
dividends"

Force managers to "
justify holding cash "
or return cash to "
stockholders"

Firm should "
cut dividends "
and reinvest "
more "

Firm should deal "
with its investment "
problem first and "
then cut dividends"
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A	
  Dividend	
  Matrix	
  

Aswath Damodaran	
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Quality of projects taken: ROE versus Cost of Equity
Poor projects Good projects

Cash Surplus + Good 
Projects
Maximum flexibility in 
setting dividend policy

Cash Surplus + Poor 
Projects
Significant pressure to 
pay out more to 
stockholders as 
dividends or stock 
buybacks

Cash Deficit + Good 
Projects
Reduce cash payout, if 
any, to stockholders

Cash Deficit + Poor 
Projects
Cut out dividends but 
real problem is in 
investment policy. 
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More	
  on	
  Microso_	
  

Aswath Damodaran	
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¨  Microso_	
  had	
  accumulated	
  a	
  cash	
  balance	
  of	
  $	
  43	
  billion	
  by	
  
2003	
  by	
  paying	
  out	
  no	
  dividends	
  while	
  generaRng	
  huge	
  FCFE.	
  
At	
  the	
  end	
  of	
  2003,	
  there	
  was	
  no	
  evidence	
  that	
  
¤  Microso_	
  was	
  being	
  penalized	
  for	
  holding	
  such	
  a	
  large	
  cash	
  balance	
  
¤  Stockholders	
  were	
  becoming	
  resRve	
  about	
  the	
  cash	
  balance.	
  There	
  

was	
  no	
  hue	
  and	
  cry	
  demanding	
  more	
  dividends	
  or	
  stock	
  buybacks.	
  

¨  Why?	
  

¨  In	
  2004,	
  Microso_	
  announced	
  a	
  huge	
  special	
  dividend	
  of	
  $	
  33	
  
billion	
  and	
  made	
  clear	
  that	
  it	
  would	
  try	
  to	
  return	
  more	
  cash	
  
to	
  stockholders	
  in	
  the	
  future.	
  What	
  do	
  you	
  think	
  changed?	
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Case	
  1:	
  Disney	
  in	
  2003	
  

Aswath Damodaran	
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¨  FCFE	
  versus	
  Dividends	
  
¤  Between	
  1994	
  &	
  2003,	
  Disney	
  generated	
  $969	
  million	
  in	
  FCFE	
  each	
  

year.	
  	
  
¤  Between	
  1994	
  &	
  2003,	
  Disney	
  paid	
  out	
  $639	
  million	
  in	
  dividends	
  and	
  

stock	
  buybacks	
  each	
  year.	
  
¨  Cash	
  Balance	
  

¤  Disney	
  had	
  a	
  cash	
  balance	
  in	
  excess	
  of	
  $	
  4	
  billion	
  at	
  the	
  end	
  of	
  2003.	
  
¨  Performance	
  measures	
  

¤  Between	
  1994	
  and	
  2003,	
  Disney	
  has	
  generated	
  a	
  return	
  on	
  equity,	
  on	
  
it’s	
  projects,	
  about	
  2%	
  less	
  than	
  the	
  cost	
  of	
  equity,	
  on	
  average	
  each	
  
year.	
  

¤  Between	
  1994	
  and	
  2003,	
  Disney’s	
  stock	
  has	
  delivered	
  about	
  3%	
  less	
  
than	
  the	
  cost	
  of	
  equity,	
  on	
  average	
  each	
  year.	
  

¤  The	
  underperformance	
  has	
  been	
  primarily	
  post	
  1996	
  (a_er	
  the	
  Capital	
  
CiRes	
  acquisiRon).	
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Can	
  you	
  trust	
  Disney’s	
  management?	
  

Aswath Damodaran	
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¨  Given	
  Disney’s	
  track	
  record	
  between	
  1994	
  and	
  2003,	
  if	
  
you	
  were	
  a	
  Disney	
  stockholder,	
  would	
  you	
  be	
  
comfortable	
  with	
  Disney’s	
  dividend	
  policy?	
  

a.  Yes	
  
b.  No	
  
¨  Does	
  the	
  fact	
  that	
  the	
  company	
  is	
  run	
  by	
  Michael	
  Eisner,	
  
the	
  CEO	
  for	
  the	
  last	
  10	
  years	
  and	
  the	
  iniRator	
  of	
  the	
  Cap	
  
CiRes	
  acquisiRon	
  have	
  an	
  effect	
  on	
  your	
  decision.	
  

a.  Yes	
  
b.  No	
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The	
  Bopom	
  Line	
  on	
  Disney	
  Dividends	
  in	
  2003	
  

Aswath Damodaran	
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¨  Disney	
  could	
  have	
  afforded	
  to	
  pay	
  more	
  in	
  dividends	
  
during	
  the	
  period	
  of	
  the	
  analysis.	
  

¨  It	
  chose	
  not	
  to,	
  and	
  used	
  the	
  cash	
  for	
  acquisiRons	
  
(Capital	
  CiRes/ABC)	
  and	
  ill	
  fated	
  expansion	
  plans	
  
(Go.com).	
  

¨  While	
  the	
  company	
  may	
  have	
  flexibility	
  to	
  set	
  its	
  
dividend	
  policy	
  a	
  decade	
  ago,	
  its	
  acRons	
  over	
  that	
  
decade	
  have	
  fripered	
  away	
  this	
  flexibility.	
  

¨  Bopom	
  line:	
  Large	
  cash	
  balances	
  would	
  not	
  be	
  tolerated	
  
in	
  this	
  company.	
  Expect	
  to	
  face	
  relentless	
  pressure	
  to	
  
pay	
  out	
  more	
  dividends.	
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Following	
  up:	
  Disney	
  in	
  2009	
  

Aswath Damodaran	
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¨  Between	
  2004	
  and	
  2008,	
  Disney	
  made	
  significant	
  changes:	
  
¤  It	
  replaced	
  its	
  CEO,	
  Michael	
  Eisner,	
  with	
  a	
  new	
  CEO,	
  Bob	
  Iger,	
  who	
  at	
  

least	
  on	
  the	
  surface	
  seemed	
  to	
  be	
  more	
  recepRve	
  to	
  stockholder	
  
concerns.	
  

¤  It’s	
  stock	
  price	
  performance	
  improved	
  (posiRve	
  Jensen’s	
  alpha)	
  
¤  It’s	
  project	
  choice	
  improved	
  (ROC	
  moved	
  from	
  being	
  well	
  below	
  cost	
  

of	
  capital	
  to	
  above)	
  
¨  The	
  firm	
  also	
  shi_ed	
  from	
  cash	
  returned	
  <	
  FCFE	
  to	
  cash	
  

returned	
  >	
  FCFE	
  and	
  avoided	
  making	
  large	
  acquisiRons.	
  
¨  If	
  you	
  were	
  a	
  stockholder	
  in	
  2009	
  and	
  Iger	
  made	
  a	
  plea	
  to	
  

retain	
  cash	
  in	
  Disney	
  to	
  pursue	
  investment	
  opportuniRes,	
  
would	
  you	
  be	
  more	
  recepRve?	
  

a.  Yes	
  
b.  No	
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Case	
  2:	
  Aracruz	
  Celulose	
  -­‐	
  Assessment	
  of	
  
dividends	
  paid	
  in	
  2003	
  

Aswath Damodaran	
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¨  FCFE	
  versus	
  Dividends	
  
¤  Between	
  1999	
  and	
  2003,	
  Aracruz	
  generated	
  $37	
  million	
  in	
  FCFE	
  
each	
  year.	
  	
  

¤  Between	
  1999	
  and	
  2003,	
  Aracruz	
  paid	
  out	
  $80	
  million	
  in	
  
dividends	
  and	
  stock	
  buybacks	
  each	
  year.	
  

¨  Performance	
  measures	
  
¤  Between	
  1999	
  and	
  2003,	
  Aracruz	
  has	
  generated	
  a	
  return	
  on	
  
equity,	
  on	
  it’s	
  projects,	
  about	
  1.5%	
  more	
  than	
  the	
  cost	
  of	
  
equity,	
  on	
  average	
  each	
  year.	
  

¤  Between	
  1999	
  and	
  2003,	
  Aracruz’s	
  stock	
  has	
  delivered	
  about	
  
2%	
  more	
  than	
  the	
  cost	
  of	
  equity,	
  on	
  average	
  each	
  year.	
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Aracruz:	
  Its	
  your	
  call..	
  

Aswath Damodaran	
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¨  Aracruz’s	
  managers	
  have	
  asked	
  you	
  for	
  permission	
  to	
  cut	
  
dividends	
  (to	
  more	
  manageable	
  levels).	
  Are	
  you	
  likely	
  to	
  go	
  along?	
  
a.  Yes	
  
b.  No	
  

¨  The	
  reasons	
  for	
  Aracruz’s	
  dividend	
  problem	
  lie	
  in	
  it’s	
  equity	
  
structure.	
  Like	
  most	
  Brazilian	
  companies,	
  Aracruz	
  has	
  two	
  classes	
  
of	
  shares	
  -­‐	
  common	
  shares	
  with	
  voRng	
  rights	
  and	
  preferred	
  shares	
  
without	
  voRng	
  rights.	
  However,	
  Aracruz	
  has	
  commiped	
  to	
  paying	
  
out	
  35%	
  of	
  its	
  earnings	
  as	
  dividends	
  to	
  the	
  preferred	
  stockholders.	
  
If	
  they	
  fail	
  to	
  meet	
  this	
  threshold,	
  the	
  preferred	
  shares	
  get	
  voRng	
  
rights.	
  If	
  you	
  own	
  the	
  preferred	
  shares,	
  would	
  your	
  answer	
  to	
  the	
  
quesRon	
  above	
  change?	
  
a.  Yes	
  
b.  No	
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Mandated	
  Dividend	
  Payouts	
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¨  Assume	
  now	
  that	
  the	
  government	
  decides	
  to	
  mandate	
  a	
  
minimum	
  dividend	
  payout	
  for	
  all	
  companies.	
  Given	
  our	
  
discussion	
  of	
  FCFE,	
  what	
  types	
  of	
  companies	
  will	
  be	
  hurt	
  
the	
  most	
  by	
  such	
  a	
  mandate?	
  

a.  Large	
  companies	
  making	
  huge	
  profits	
  
b.  Small	
  companies	
  losing	
  money	
  
c.  High	
  growth	
  companies	
  that	
  are	
  losing	
  money	
  
d.  High	
  growth	
  companies	
  that	
  are	
  making	
  money	
  
¨  What	
  if	
  the	
  government	
  mandates	
  a	
  cap	
  on	
  the	
  dividend	
  
payout	
  raRo	
  (and	
  a	
  requirement	
  that	
  all	
  companies	
  
reinvest	
  a	
  porRon	
  of	
  their	
  profits)?	
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Aracruz:	
  Ready	
  to	
  reassess?	
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¨  In	
  2008,	
  Aracruz	
  had	
  a	
  catastrophic	
  year,	
  with	
  losses	
  
in	
  excess	
  of	
  a	
  billion.	
  The	
  reason	
  for	
  the	
  losses,	
  
though,	
  was	
  speculaRon	
  on	
  the	
  part	
  of	
  the	
  
company’s	
  managers	
  on	
  currency	
  derivaRves.	
  The	
  
FCFE	
  in	
  2008	
  was	
  -­‐$1.226	
  billion	
  but	
  the	
  company	
  
sRll	
  had	
  to	
  pay	
  out	
  $448	
  million	
  in	
  dividends.	
  As	
  
owners	
  of	
  the	
  non-­‐voRng,	
  dividend	
  receiving	
  shares,	
  
would	
  you	
  reassess	
  your	
  unwillingness	
  to	
  accept	
  
dividend	
  cuts	
  now?	
  

a.  Yes	
  
b.  No	
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Case	
  3:	
  BP:	
  Summary	
  of	
  Dividend	
  Policy:	
  
1982-­‐1991	
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Summary of calculations	


Average	

 Standard Deviation	

 Maximum	

 Minimum	



Free CF to Equity	

 $571.10	

 $1,382.29	

 $3,764.00	

 ($612.50)	


Dividends	

 $1,496.30	

 $448.77	

 $2,112.00	

 $831.00	


Dividends+Repurchases	

 $1,496.30	

 $448.77	

 $2,112.00	

 $831.00	



Dividend Payout Ratio	

 84.77%	


Cash Paid as % of FCFE	

 262.00%	



ROE - Required return	

 -1.67%	

 11.49%	

 20.90%	

 -21.59%	
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BP:	
  Just	
  Desserts!	
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Managing	
  changes	
  in	
  dividend	
  policy	
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Case	
  4:	
  The	
  Limited:	
  Summary	
  of	
  Dividend	
  
Policy:	
  1983-­‐1992	
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Summary of calculations	


Average	

 Standard Deviation	

 Maximum	

 Minimum	



Free CF to Equity	

 ($34.20)	

 $109.74	

 $96.89	

 ($242.17)	


Dividends	

 $40.87	

 $32.79	

 $101.36	

 $5.97	


Dividends+Repurchases	

 $40.87	

 $32.79	

 $101.36	

 $5.97	



Dividend Payout Ratio	

 18.59%	


Cash Paid as % of FCFE	

 -119.52%	



ROE - Required return	

 1.69%	

 19.07%	

 29.26%	

 -19.84%	
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Growth	
  Firms	
  and	
  Dividends	
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¨  High	
  growth	
  firms	
  are	
  someRmes	
  advised	
  to	
  iniRate	
  
dividends	
  because	
  its	
  increases	
  the	
  potenRal	
  
stockholder	
  base	
  for	
  the	
  company	
  (since	
  there	
  are	
  
some	
  investors	
  -­‐	
  like	
  pension	
  funds	
  -­‐	
  that	
  cannot	
  buy	
  
stocks	
  that	
  do	
  not	
  pay	
  dividends)	
  and,	
  by	
  extension,	
  
the	
  stock	
  price.	
  Do	
  you	
  agree	
  with	
  this	
  argument?	
  

a.  Yes	
  
b.  No	
  
¨  Why?	
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5.	
  Tata	
  Chemicals:	
  The	
  Cross	
  Holding	
  Effect:	
  
2009	
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Much of the cash held back 
was invested in other Tata 
companies.	
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Summing	
  up…	
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ApplicaRon	
  Test:	
  Assessing	
  your	
  firm’s	
  dividend	
  
policy	
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¨  Compare	
  your	
  firm’s	
  dividends	
  to	
  its	
  FCFE,	
  looking	
  at	
  
the	
  last	
  5	
  years	
  of	
  informaRon.	
  

¨  Based	
  upon	
  your	
  earlier	
  analysis	
  of	
  your	
  firm’s	
  project	
  
choices,	
  would	
  you	
  encourage	
  the	
  firm	
  to	
  return	
  more	
  
cash	
  or	
  less	
  cash	
  to	
  its	
  owners?	
  

¨  If	
  you	
  would	
  encourage	
  it	
  to	
  return	
  more	
  cash,	
  what	
  
form	
  should	
  it	
  take	
  (dividends	
  versus	
  stock	
  buybacks)?	
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II.	
  The	
  Peer	
  Group	
  Approach	
  -­‐	
  Disney	
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Peer	
  Group	
  Approach:	
  Deutsche	
  Bank	
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Peer	
  Group	
  Approach:	
  Aracruz	
  and	
  Tata	
  
Chemicals	
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Going	
  beyond	
  averages…	
  Looking	
  at	
  the	
  market	
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¨  Regressing	
  dividend	
  yield	
  and	
  payout	
  against	
  expected	
  growth	
  across	
  all	
  
US	
  companies	
  in	
  January	
  2009	
  yields:	
  

PYT	
  =	
  Dividend	
  Payout	
  RaRo	
  =	
  Dividends/Net	
  Income	
  
YLD	
  =	
  Dividend	
  Yield	
  =	
  Dividends/Current	
  Price	
  
ROE	
  –	
  Return	
  on	
  Equity	
  
EGR	
  =	
  Expected	
  growth	
  rate	
  in	
  earnings	
  over	
  next	
  5	
  years	
  (analyst	
  esRmates)	
  
STD	
  =	
  Standard	
  deviaRon	
  in	
  equity	
  values	
  
INS	
  =	
  Insider	
  holdings	
  as	
  a	
  percent	
  of	
  outstanding	
  stock	
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Using	
  the	
  market	
  regression	
  on	
  Disney	
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¨  To	
  illustrate	
  the	
  applicability	
  of	
  the	
  market	
  regression	
  in	
  analyzing	
  the	
  
dividend	
  policy	
  of	
  Disney,	
  we	
  esRmate	
  the	
  values	
  of	
  the	
  independent	
  
variables	
  in	
  the	
  regressions	
  for	
  the	
  firm.	
  
¤  Insider	
  holdings	
  at	
  Disney	
  (as	
  %	
  of	
  outstanding	
  stock) 	
  =	
  7.70%	
  
¤  Standard	
  DeviaRon	
  in	
  Disney	
  stock	
  prices	
   	
   	
  =	
  19.30%	
  
¤  Disney’s	
  ROE	
   	
   	
   	
   	
  =	
  13.05%	
  
¤  Expected	
  growth	
  in	
  earnings	
  per	
  share	
  (Analyst	
  esRmates)	
  =	
  14.50%	
  

¨  SubsRtuRng	
  into	
  the	
  regression	
  equaRons	
  for	
  the	
  dividend	
  payout	
  raRo	
  
and	
  dividend	
  yield,	
  we	
  esRmate	
  a	
  predicted	
  payout	
  raRo:	
  
¤  Predicted	
  Payout	
  =	
  0.683	
  	
  –	
  0.185	
  (.1305)	
  -­‐1.07	
  (.1930)	
  –	
  0.313	
  (.145)	
  =0.4069	
  	
  
¤  Predicted	
  Yield	
  =	
  0.039	
  –	
  0.039	
  (.1930)	
  –	
  0.010	
  (.077)	
  –	
  0.093	
  (.145)	
  =	
  	
  .0172	
  

¨  Based	
  on	
  this	
  analysis,	
  Disney	
  with	
  its	
  dividend	
  yield	
  of	
  1.67%	
  and	
  a	
  
payout	
  raRo	
  of	
  approximately	
  20%	
  is	
  paying	
  too	
  liple	
  in	
  dividends.	
  This	
  
analysis,	
  however,	
  fails	
  to	
  factor	
  in	
  the	
  huge	
  stock	
  buybacks	
  made	
  by	
  
Disney	
  over	
  the	
  last	
  few	
  years.	
  	
  


